Theory of Consumer Behavior

When we first discussed the law of demand, we gave several reasons why the quantity demanded went up when the price of the good went down. We pointed out that as the price of a good falls, individuals will substitute some of that good for other goods. Additionally, given a fixed budget, when the price of a good goes down, with all other prices remaining the same, that person’s buying power will actually be greater. A person not only feels richer, he or she is richer. With a constant money income, when the price of one good falls, the person clearly has more real spending or purchasing power.

-Another way of deriving the law of demand involves an analysis of consumer choice in a world of limited resources. AS previously discussed, the goal of consumers is to maximize their personal utility. In economics, utility is defined by the satisfaction a person obtains front the consumption of a good or service. Not all consumers get the same satisfaction from a specific good or service. In other words, what makes one person happy may not make another person happy. 
Some people are just happy and some are not(
https://www.youtube.com/watch?v=90HhZ-pyC2Y
https://www.youtube.com/watch?v=X7ymriMhoj0
1. Utility Analysis – the analysis of consumer decision making based in utility maximization.

2. Utility – the want – or satisfying power that a good or service possess. 

3. Util – an artificial unit by which utility is measured.

4. Marginal Utility – the change in total utility due to a one-unit change in the quantity of a good consumed.

Ex. As you increase your consumption of hamburgers, you will get additional utility or satisfaction.

5. Diminishing Marginal Utility – the more you consume of a good, the less marginal utility you derive from each additional unit of consumption. Your first hamburger taste a lot better than your fifth.
A. The Concept of Margin Analysis – the analysis of what happens when small changes take place relative to the status quo. For example, how much utility does the next French Fry bring, or how much utility does the next slice of pizza bring. The “next” is the same as the “marginal.” The marginal utility is the additional utility a consumer derives from the “next” French Fry or “next” slice of pizza. 

Example: 
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NOTE:  If we were able to assign specific numbers to the utility derived from watching dvds each week, we could then obtain a marginal utility schedule that would probably be similar in pattern to the one above.

The way you interpret this information is to say… when a person rents one video per week (s)he gets 10 units of utility. Watching two videos per week brings 16 units of utility to this person, and so on.
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The total utility is increasing at a decreasing rate.

Indifference Curves
In microeconomic theory, an indifference curve is a graph showing different bundles of goods between which a consumer is indifferent. That is, at each point on the curve, the consumer has no preference for one bundle over another. One can equivalently refer to each point on the indifference curve as rendering the same level of utility (satisfaction) for the consumer. https://www.princeton.edu/~achaney/tmve/wiki100k/docs/Indifference_curve.html
Indifference Curves
           

 

Indifference curve display the utility derived by the consumption of two goods at the same time. Along an indifference curve, the combinations of goods change – 2 donuts and 2 glasses of milk (Combination A) or 3 donuts and 1 glass of milk (Combination B). Both combinations provide 36 units of utility. Since both combinations provide the same utility, both bundles of goods are plotted on the same indifference curve. There are many indifference curves on the same graph. In the example above only one displayed. But, there will be an indifference curve for every level of utility.
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At higher levels of utility, indifference curves move up to the right. 

For example, I1 can represent the utility of 36, while I2 can represent the utility of 48. 
Bundle 1 = 5 donuts (30 utils) and 2 milks (18 utils) for a total of 48, Bundle 2 = 4 donuts (28 utils) and 3 milks (20 utils) for a total of 48. 


Budget Constraint
Assuming there are two goods. On a graph put a good on an axis.

Then ask the question, “if the consumer spent all of his or her income on this one good, how many units of the good could he or she purchase?”

Assume that you have $4.00, and the two goods were donuts (which cost $.50) and coffee (which cost $1.00).    

Then if you spent all of your money on donuts you could buy 8 of them ($4.00/$.50). If you spent all of your money on coffee, you could buy 4 cups ($4.00/$1.00).

The budget constraint would look like this.




coffee

      5
     can’t afford

 not spending

                 all income



   8

donuts

Sample Consumer Behavior Questions

1.  Jamie gets utility from purchasing comic books. When he bought his first Spiderman book it brought him 27 utils. His second Spiderman book raised his total utility to 52 utils. What was Jamie’s marginal utility from his second Spiderman book?

2. Christy would be just as happy consuming 2 iced teas and 5 chicken wings as she would if she consumed 3 iced teas and 3 chicken wings. Both bundles would result in 40 units of utility.

Draw the indifference curve for these two bundles on the graph below.



3. Using the information above, it is safe to say that Christy would be willing to give up

a. 2 chicken wings for 2 iced teas

b. 1 iced tea for 1 chicken wing

c. 4 chicken wings for 1 iced tea


d. 2 chicken wings for 1 iced tea 

Person A’s utility information.
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4. Use the information above to fill in the MU column.

5. Would Person A choose 2 subs and 3 hamburgers, or 3 subs and 2 hamburgers? Why?

6.  If the price of subs are $4 and the price of hamburgers are $3, what should Person A purchase if (s)he has $12?


7. What if the price of subs dropped to $3, then what would Person A purchase?

8. Define the Law of the Diminishing Marginal Utility?

9. a. If the price of tacos is $1 and the price of quesadillas is $5, draw the budget constraint for the two goods if the consumer has $30 of income.



 b. how would the budget constraint change if the price of tacos rose to $2?

c. how would the budget constraint change if the income decreased to $20?

Additional Notes 
Marginal Utility and Total Utility – A Look at Diminishing Marginal Utility
The graphs are those of a student consuming slices of pizza in a one day period.  The total utility (TU) curve shows the level of total satisfaction he receives from different amounts of pizza consumed.  The marginal utility (MU) shows the change in his total utility resulting from his consuming an extra slice of pizza.  Diminishing marginal utility (DMU) refers to the case where his MU diminishes as he consumes additional slices of pizza.  As long as his MU is positive, his TU will increase as he consumes extra slices.  If his MU becomes negative that means his TU actually decreased when he ate the extra slice of pizza.  When MU equals zero, he is maximizing his total utility from pizza.

It is important to be accurate in the distinction between his MU and his TU.  These comments should be helpful.  (Note:  Neither the graphs nor these comments refer to the consumer’s income or the price of pizza.  They deal just with his pleasure from pizza.)

1.  MU = TU/Q

2.  The slope of the TU curve = TU/Q = MU

3.  As long as MU is positive, TU increases.  Since each of the first 6 units has positive MU, the student’s 
     TU increases as he consumes the first 6 slices. This means each of the first 6 units added to his TU.

4.  When MU is zero, TU has stopped increasing and is at its maximum value.  The MU of the 7th slice is 
     zero so there is no change in his TU when he eats the 7th slice.

5.  If MU is negative, TU will decrease if he consumes additional slices of pizza. Since the MU of the 8th 
     slice is negative, his TU will be reduced if he eats the 8th slice.

6.  The MU from each of the first 3 slices is increasing.  (The MU from the 2nd slice is greater than the MU 
     from the 1st slice, and the MU from the 3rd slice is greater than the MU from the 2nd slice.)  This means 
     TU is increasing at an increasing rate as the student eats the first 3 slices of pizza.  Notice the slope of 
     the TU curve is increasing as he consumes these first 3 slices. (Remember: MU = slope of TU curve.)

7.  The MU from slices beyond the 3rd slice diminishes.  Thus, points A and A’ represent the point of 
     diminishing marginal utility (DMU).  In the top graph we call point A the “inflection point” on the TU 
      curve – the TU’s slope is maximized at point A.

8.  The MU to the student from the 4th, 5th, and 6th units is still positive, even though it is diminishing.  This 
     means his TU continues to increase as he eats these slices, but TU will increase at a decreasing rate.  
     Note how the slope of the TU curve lessens between points A and B in the top graph.  The value of TU 
     is still rising but the slope of the TU curve is getting smaller.

9.  At point B we see TU is maximized when the student consumes 7 slices per day.  At  point B’ we see his 
     MU is zero at 7 slices.  The slope of the TU curve is zero at point B.  (Again, remember that MU is the 
     slope of the TU curve so MU = 0 at this point.)

10.  If the student eats an 8th slice of pizza, his total utility actually diminishes because this is simply too 
       many slices for him to eat in one day without getting sick.  His MU from the 8th slice is negative.
                          [image: image1.png]v
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Answers to questions above

1. 52 -27 = 25
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3. 32+48 = 80  versus
43+40 = 83 (3 subs and 2 burgers)
4. The combination that maximizes total utility is 2 burgers and 1 sub
5. 2 burgers and 2 subs
Indifference Curve


3 donuts     1 milk      =   36


2 donuts     2 milk      =   36
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